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QUESTION 1

What is the schema name of the DB2 built-in global variable TRUSTED_CONTEXT?
A. SYSIBM

B. SYSFUN

C. SYSCAT

D. SYSIBMADM

Correct Answer: A

QUESTION 2

Which two of the following functions of DB2 Workload Manager are restricted by license? (Choose two.)
A. Creating, using, or altering thresholds

B. Granting, altering, or revoking workload privileges

C. Using or altering the default service classes and workloads

D. Creating service classes, service subclasses, and workloads

E. Creating, activating, stopping or dropping workload management event monitors

Correct Answer: BD

QUESTION 3

Which of the following are all valid types of trigger?
A. AFTER, ATOMIC, BEFORE

B. AFTER, ATOMIC, INSTEAD OF

C. AFTER, BEFORE, INSTEAD OF

D. ATOMIC, BEFORE, INSTEAD OF

Correct Answer: C

QUESTION 4
What is the default value of the DB2 registry variable DB2LDAP_SEARCH_SCOPE?

A. NONE
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B. LOCAL
C. DOMAIN
D. GLOBAL

Correct Answer: D

QUESTION 5
A DBA has observed that queries executed against SALES table have poor performance. DB2 tools have indicated that
the level of data fragmentation in the SALES table is very high. Similar results were detected for indexes defined on the
SALES table.

Which of the following commands should be used by the DBA to improve the performance of the queries run against the
SALES table?

A. REORG TABLE sales AND INDEXES ALL;RUNSTATS ON TABLE sales AND INDEXES ALL,;

B. REORG TABLE sales INPLACE;REORG INDEXES ALL FOR TABLE sales;RUNSTATS ON TABLE salesAND
INDEXES ALL;

C. RUNSTATS ON TABLE sales AND INDEXES ALL;REORGCHK ON TABLE sales;
D. RUNSTATS ON TABLE sales INPLACE AND INDEXES ALL;

Correct Answer: A
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